Upravy vyrazG-Rozklad na soucin-Bé&loun-07-072-053-a-d

Rozlozte na soucin vyraz

a)
B-v)-(@w-3)
b)
5t—-3)—((3—-1t)

c)

ulv—-1)—-v+1

d)
t(6r—7)+ 14 — 12r

Strana 1 (celkem 2)



Upravy vyrazG-Rozklad na soucin-Bé&loun-07-072-053-a-d

RozloZte na soucin vyraz - feSeni

a)

B-v)-w-3)

(3omr) = (r=1) =(2-) + (3 =) =Q-)(777)=
= (g-n)

9'/"'*/"*325—2f\r:2-(§-m’)

_—

J'fmé\L.‘

b)

5t-3)-(3-1)

Flé-1)+(3-¢)=T(t-3)-(t-2)=(t-3)(r-7)=
=¢(7-3)

c)

uv—-1)-v+1

u(vr=7)=r—+7 =t (r=2) = (v =7)=(rr=7)(u-7)

d)

t(6r —7) + 14 —12r

Ef8v~7) + 7% =72 = L(6v-2)-2(€r-7)=
=(§t-7)'({—2)
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